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□◆□ 説明 （式の値 1-2） 
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 １）ｘ＝－２の時、次の式の値を求めましょう 
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 ２）ｘ＝３、ｙ＝－４の時、次の式の値を求めましょう。 

        １）ｘ＋ｙ＝？ 

  考え方 

   ｘに３、ｙに－４を代入するから、ｘ＋ｙ → ３＋（－４）になる 

   ｘ＋ｙ → ３＋（－４）＝－１           答え －１ 

  －－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－ 

  ２）ｙ／ｘ＝？ 

 

  考え方 

            
ｙ

ｘ
   －

４

３
＝ －１

１

３
  

＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊＊ 

■■■＋＋＋＋＋＋＋＋＋＋＋＋＋＋＋ 

□□□ 今回の宿題。 

■■■＋＋＋＋＋＋＋＋＋＋＋＋＋＋＋ 

 １）ｘ＝－２の時、次の式の値を求めましょう。 

  １）３ｘ＝？ 
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 ２）ｘ＝３、ｘ＝－２の時、次の式の値を求めましょう。 

         １）２ｘｙ－ｘ
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         ３）（２／３） ｘ－（３／２） ｙ＝？ 
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の時、次の値を求めましょう。 

  １）２ｙ－ｘ＝？ 
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  ３）ｘ－ｙ＝？ 
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▽Ａ▽ 前回の答え 

▲■▲＋＋＋＋＋＋＋＋＋＋＋＋＋＋＋ 

 １）ｘ＝－２の時、次の式の値を求めましょう。 

  １）５＋ｘ＝？ 

  考え方 

   ５＋ｘ → ５＋（－２）＝５－２＝３         答え ３ 

  －－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－ 

  ２）４ｘ－５＝？ 

  考え方 

   ４ｘ－５＝４×ｘ－５ → ４×（－２）－５＝－８－５＝－１３ 

                            答え －１３ 

  －－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－ 

  ３）２（ｘ＋３）？ 

  考え方 

   ２（ｘ＋３）＝２×（ｘ＋３） →  

     ２×｛（－２）＋３｝＝２×１＝２         答え ２ 

  －－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－   
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 ２）ｘ＝３、ｘ＝－２の時、次の式の値を求めましょう。 

  １）２ｘ＋３ｙ＝？ 

  考え方 

   ２ｘ＋３ｙ → ２×３＋３×（－２）＝６＋（－６）＝０ 

                              答え ０ 

  －－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－ 

  ２）ｘ－５ｙ＝？ 

  考え方 

   ｘ－５ｙ → ３－５×（－２）＝３－（－１０）＝１３ 

                             答え １３ 

  －－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－－ 
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